NORTH-EX PUBLIC SCHOC
(Senior Secondary, Affil To CBSE)
School Block, Jain Nagar, Sector-38, Rohini, Delhi81
PERIODIC- EXAM {zuﬂ-ﬂi
SUBJECT ~Economics
CLASS-XiI

TIME: 1 HOUR 20 min M.M.:40 marks

General Instructions:

[i] The question paper comprises four sections A, B,C and D.

paper, All questions are compulsory.

(i) Section—A - question no. 1 to 20 carries 0.5 mark each.

{iii} Section—B - guestion no. 21&22 carries 3 marks each.

(iv) Section—C - question no. 23&25 carries 4 marks each.

(V) section-D — guestion no . 26 & 27 carries 6 marks each
Section-A,

ce are 28 questions in the question

Q1 Aggregate demand is not.......... .a variable

Q2 Monetary and fiscal policy of the government are a part ulmlaumnm true or false
Q3 When a quantity measured per unit of time. Is known as:

Q4 Give one example of flow variable

Q5 The difference between natienal income and domestic income Is equal to
Q6 When nominal GDP is B840 crore and price indexes 120 then real GDP will be
Q7 Operating surplus equals to

09 Gve mmm:? fayent

Q9 Remittances from a relative working abroad consider as:

Q10 Real national income means:

Q11 When was India’s first official census operation undertaken?

Q112 Which year is known as the year of great divide in India.

Q13 When was Planning Commission established?

Q14 Planning Commission was established under the dmrmmhip of:
Q15Which was the last five year plan in India?

e wWhakic madthes name o

Q17 investment limit for small scale industry is

Q18 Industrial policy resolution 1956 laid emphasis on me'lmu of.....
Q119 Suez canal was open for transport in which year .
‘020 Which industry was demolished under the British rul
Section-B
. Q21 State three main features of Indian economy at the of independence.

Distinguish between equal and equitable distributiod of mr...,
Section-C

023. Read the following case study carefully and answer Ll questions on the basis of the same:
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SUBJECT: ENGLISH CORE
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General Instructions:

I The Question Paper contains THREE sections READING, GRAMMAR &amp; WRITING and
2 LITERATURE,

3. Attempt all questions based on specific instructions for each part,

Section A
(Reading)

I. Read the passage given below and answer the questions that follow: (5)

1. While there is no denying that the world Joves a winner, it is important that You recognize the
signs, of stress in your behaviour and be healthy enough 1o enjoy your success. Stress can strike
anytime, in a fashion that may leave you unaware of its presence in your life. While a certain amount
of pressure is necessary for performance, it is important to be able to recognize your individual limit.
For instance. there are some individuals who accept competition in a healthy fashion, There are
others who collapse into weeping wrecks before an exam or on comparing marks sheets and finding
that their friend has scored better.

resources, it causes psychosocial stress. It is a part and parcel of everyday life.

3. Such signs appear in the attitude and behaviour of the individual, as muscle tension in various
parts of the body, palpitation and high blood pressure, indigestion and hyperacidity. Ultimately the
result is self-destructive behaviour such as cating and drinking too much, smoking excessively,
relying on tranquilisers. There are other signs of stress such as trembling, shaking, nervous blinking,
dryness of throat and mouth and difficulty in swallowing.

4. The hean disease and depression both stress diseases are 2oing to rank first and second in 2020, Road
traffic accidents are going 10 be the third-largest killers. These accidents are also an indicator of psychosocial
stress in a fast-moving society. Other stress diseases like ulcers, hypertension and sleeplessness have assumed
epidemic proportions in modern societies.

5. When siress crosses the limit, peculiar 1o an individual, it lowers his performance capacity.
Frequent crossings of the limit may result in chronic fatigue in which a person feels lethargic,
disinterested and is not easily motivated 1o achieve anything. This may make the person mentally
undecided, confused and accident-prone as well. Sudden exposure of unnerving stress may also
result in a loss of memory. Diet, massage, food supplements, herbal medicines, hobbies, relaxation
techniques and dance movements are excellent stress busters.

(1) What is stress? What factors lead to stress?

¥ 11.' s



(i1) What are the signs by which a person can know that he is under stress?
(iii) What are the different discases a person gets due to stress?
(iv) Give any two examples of stress busters.

(v) Which words in {he above passage mean the same as ‘inactive’ (para 9).

Section B
(Writing)

ILAs the Head Boy / Head Girl of your school, you aré organising a Career Counselling Session

for X1 and XI1 std. Students of your school. Write a notice giving details of it t0 be displayed on
your school notice board. (Word limit 50) (5

111 Grow more trees to reduce pollution.” Write an article in 150-200 words on the topic given
3

above for your school magazine.

Section C
(Literature)

IV. Read the stanzas given below and answer the questions that follow: (4)

«_put after the airport’s
Security check, standing 3 few yards
Away, | looked again at her, wan, pale
As a late winter's moon..."

Questions:

a Whois ‘1" and why is she at the airport?

b. Who does ‘her” refer 107 How did she look?

¢. Why does the poet “Jook at her again’?

d. Explain "wan, pale as a late winter's moon?

V. Read the extract and answer the question: )

“My children this is the last lesson | shall give you. The order came from Berlin to teach only
German in the schools of Alsace and Lorraine. The new master comes tomorrow. This is your last
French lesson.”

a Who is the speaker in the above lines?
b. Where has the order come from ?
¢. In which language is the last lesson 7

' d. Speaker is speakingto




N

(4x3=12)

V1. Answer the questions in 30 — 40 words.

gs about M. Hame! and school change?
re has he come

a. How did Franz's feelin
57 Where is he and whe

b. What is Saheb looking for in the garbage dump

from’

How is Mukesh different frc makers of Firozabad? .
<7 What could this

ym the other bangle
an, even the pigeon

C.
d. Franz thinks, “Will they make them sing in Germ
mean?
VIl Answer any one of the following: &)
ot to Grand Central 1o take the

4 What curious experience didd Charli¢ have one day when he we
subway”?
b, What did the Maharaja do 1o find the required pumber of tigers 10 kin?

13|

14
15,

I16.
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SUBJECT- MATHEMATICS

CLASS- Xl
Time : 80 min.

M.M : 40
General Instructions:

l. This Question Paper has 5 Sections A-E.

Section A has 15 objective type Ques out of which 10 Ques are of 1/2 mark each and §
Ques are of 1mark each.

Section B has 4 questions carrying 02 marks each.
Section C has 4 questions carrying 03 marks each.
Section D has 1 question carrying 4 marks.

. Section E has 2 case based int
All Questions are compulsory, Howe

I

st

egrated units of assessment {03 marks each). &
ver, an internal choice has been provided.

SECTION-A (10x % =5)

Find the total no. Of passible matrices of order 2x2 with each entry 2 or 0 ? ﬂﬁ
Write the principle value branch of sec function.

(AB) " will be equal to?

When will matrix A is said to be singular?

When will 2 relation is called equivalence relation?

If Ais a square matrix of order 3 such that 1Al = 6, Find 1241

What is the value of tan '(1)?

Define scalar matrix.

Find the value of sin(sin™' a + cos~! a).

0NN AW N e

. If the matrix A is both symmetric and skew symmetric, then A will be?
- Find the value of cos ™! (cos(12%)) .

—
[

(5x 1 =5)

—
L]

- A be a non singular matrix of order 3x3, then |ad/ A| is equal to?

. o 1383 y 01_ 15 6
. Find the value of x y,nzlo Jlf]+[I 2= 03 3]_
- Construct a 2x2 rnatrixA=[aij]whomelernentsaregivmbyaijzi.f,.

- For 3 given set A ={1,2,3},write a relation which is reflexive and symmetric.
SECTION -B(4x2=8)
16. Find the value of tan™'[ 2 cos( 2sin~! (1)),
17. Check whether the function f-R-> R defined by f(x) =
18. Check whether the relation in the set {1,2,3,4} given
Is reflexive, symmetric and transitive.
19. A’ = A, then find (T+A)" - 3A.

[
[T

-
[

3x is one- one and onto,
by R={(1,2),(2,2 1(1,1),(4,4),(1,3),(3,3),(3,2))




SECTION -C(4x3=12)

0 2y =
20. Find the value of x, y, 2 if the matrix A= |x vy —z| satisfy the equation A ‘A = 1.
r =y 2z

2 0 =1
21. Express of the matrix \5 1 0 l as asum of symmetric and skew symmetric matrix.

D3
22. Determine whether the given relation R = { (x ) - x-y is an integer} is reflexive , symmetric and
transitive.
OR
Show that the signum function f :R 2R, given by f(x} =1, if x > 0 is neither one one nor onto.
0,fx=0
-1,ifx<0

23. Show that cos ' (4/5) + cos ' (12/13) = cos ' (33/65).
SECTION -D (1x4=4)

= Vi+sinT +y l-—siu:‘) T X

24. Prove that col (—-——W_ e 5
OR

Solve the given system of linear equation , using matrix method

K-y+z2=4,2x+y-32=0 x+ty+z2=2.
SECTION -E(2x3=6)

25. An organisation conducted bike race under 2 different categories —boys and girls. Totally there were
250 participants . Among all of them finally three from category 1 and 2 from category 2 were selected
for the final race. Ravi forms two sets B and G with these participants for this college project Let B={ bl

b2, b3) and G ={ gL.g2} ,where B =boys and G =girls .Ravi decides to explore these sets for various
types of relations and functions. Answer the following questions.

a) Ravi wishes to form all the relations possible from B to G . How many such relations are possible?
b) Ravi wants to know how many functions can be formed from B to G?

€] Ravi wants to find the number of injective functions from B to G, How many numbers of injective
functions are possible?




26. A farmer has a field in the shape of quadrilateral where he grow crops in the shape of triangle. For
this, he needs to measure the area of field whose vertices are (xy), (x2,y2) .(x1,y1) is given by a

determinant . Since area is a positive quantity, so we always take the absolute value of the
determinant, Answer the following questions:

a) Find the area of the triangle whose vertices are {(-1,2) , (2,3) and (6,1).
b) If the points (2,-3) , [k, -1) and (0,4) are collinear, then find the value of K.

) Ifthe area of a triangle ABC with vertices A(1,3),8{0,0) and C(k,0) is 3 5q. Units , then find e
k?




NORTH-EX PUBLIC SCHOOL
(Senior Secondary, Affiliated To CBSE)
School Block, Jain Nagar, Sector-38, Rohini, Delhi - 81
FLRIODIC 1 EXAMINATION, 2023-24
SUBJECT - PHYSICS

CLASS - X11
TIME: 80 min MM: 40

General Instructions
I The question paper has four sections and 26 questions. All questions are compulsory.

. Section-A has 16 questions of 1/2 marks each; Section-B has 3 guestions of 2 marks each;
Section-C has 4 questions of 3 marks each: Section-D has 2 questions of 5 marks each and
Section-E has a case based question of 4 marks.

There is no overall choice and all questions are compulsory.

SECTION- A

What is the unit of electrical permittivity?
When is the torque on a dipole in a field maximum?
How many time the field becomes when charge of a body becomes halved?
Hluw many electrons are present in | coulomb of charge?
- An infinite line charge produces a field of 18=10° N/C at 0,02 m. Find the linear charge

density?
What is the electric flux through a cube of side | cm which encloses &n electric dipole?
What is the work done in placing a charge of 8% 10" C on condenser of capacity |00uF?
How many electron volts make up one joule?
Draw the lines of force of an electric dipole.
Is flux scalar or a vector quantity?

- A battery does 200 J of work in charging a capacitor. What is the energy stored in
the capacitor?

- What is the amount of work done in moving a charge around a circular arc of radius *r* at the
centre of which another point charge is located?

- A point charge is lying at the centre of a cube of cach side & Calculate the electric flux
emanating from cach surfice of the cube.

. Write a refation for polarization P of 3 dielectric material in the presence of an external

electric field,
5. Determine the electric field prodiced by a helium nuclews at 2 distance of | A® from it

. 100 ] of work is done in moving an electric charge of 4C from a place where potential s -

10 V10 another, where potential is V volt. Find the value of v?
SECTION-B

. Define electric flux. Write its S.1. unit,
Two poin charges q and -2q are kept “d" distance apart. Find the location of the point relative
to charge *q" a1 which potential due 1o this system of charges is zero.

- The sum of two points charges is 71 C. They repel each other with a force of 1 N when
kept 30 cm apart in free space. Calculate the value of each charge.

SECTION- C

. Derive an expression for the torque experienced by an electric dipole kept in a uniform
electric field.




f an electric
21. Derive llﬁ expr

e placed at
dipole.

<0, When an insulator is placed in an exteral field, the
charges on the insulator establish a polarization field 5
insulator is the vector sum of £, and F, .

On : application of external electric field, the effect of aligning the electric di |
ato is called polarisation and the ficld E; is known as the polarisation field,
: mome ! per unit volume of the dielectric is known as polarisation (P}, S

i
i



For linear isotropic dielectrics, P =yE, where ¥ =€l
medium
Name any two polar molecules?
When air 1s replaced by a dielectric medium of constant K.¢
attraction between two charges separated by a distance.
~ & any two dielectines”?

When a comb rubbed with dry hair attracts pieces of paper. Expl

ain this phenomenon.
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General lnstructions

| N
i
iii.

"—l.al!-.l_—'

s

10.
I,
i,

3.
4.

15

l6.

All questions are compulsory.

The question paper has four sections and 26 questions, All questions are compulsory.
Section-A has 16 questions of 1/2 marks each; Section-B has 3 questions of 2 marks cach;
Section-C has 4 questions of 3 marks each; Section-D has 2 questions of § marks cach and
Section-E has | case based questions of 4 marks.

There is no overall choice and all questions are compulsory.

SECTION- A

Write the location and function of the sertoli cells in humans.

Give one reason 1o justify statutory ban on amniocentesis,

Why is Saheli considered 1o be an improved form of oral contraceptive for human female?
How many microspore mother cells would be required 1o produce 100 pollen grain in a pollen
sacTand why?

Which are the three cells found in a pollen grain when it is shed at the three called stage 7
A women's husband is infertile.so the lady bas decided to have baby by taking sperms from
sperm Bankwhich technique will you suggest for her pregnancy?

Expand 1UD.

MName the hormones produced only during pregnancy in a human female.

|dentify the figure given below and the parts labelled A.

Name the embryvonic stage that gets implanted in the uterine wall of a human female.
Mention the function of trophoblast in human embryo.

In & case of polvembryony, if an embeyo develops from the synergid andanother from the
nucellus ,which is haploid and which is diploid?

Write the function of scutellum,

An another with malfunctioning tape tapetum often fails to produce viable male
gametophytes, Give any one reason,

Name the organic material the exine and intine of an angiosperm pollen grains are made up
of. Explain the role of exine.

A method in which & couple avoids coitus from 10" and 17day of menstrual cycle of female
s

SECTION- B

. How do copper and hormone releasing 1UDs act as contraceptives? Explain,







TIME: %0 min
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General lnstructions:

d.
b
©
d.
e
f

There are 29 questions in this guestion paper with mternal choice.
SECTION A consists of |8 questions carrying Y mark each

SECTION B consists of § very short answer questions carrying 2 marks each.
SECTION C consists of 4 short

SECTION D consists of | case- based questions carryving 4 marks each,

SECTION E consists of 1 long answer questions carrying 5 marks each.
All questions are compulsory.

Use of log tables and calculators is not allowed,

Section A.......[(9)

IMe sum of mole fractions of solute and solvent of a solution is _
Ideal solutions obey

l.

3. To deposite 2 mol of Ca from CaCl, __  electricity is required.

* SolidNaClws __ conductor of electricity

3. Molar conductivity is related to the conductivity of the
conductivity and ¢ the concentration )

6. When measuring conductivity with a conductivity cell, cell constant denoted by the
symbol G* is given by (electrode area of cross section equal to *A” and separated by

distance ‘1')

Conductivity always decreases with decrease in concentration both, for weak and strong

electrolytes because of the fact that

8. According to Faraday's First Law of Electrolysis 'the amount of chemical reaction which

occurs at any clectrode during electrolysis by a current is proportional to the
9. Give an example of solution of liquid in gas is

10. Which law shows relation between pressure and solubility of a gas in solvent
1. Why is aliernating current used for Measuring resistance of an electrolytic solution?
12 volatile liquids the partial pressure of each

solution by the equation (k is the

-
s

<. Raoult’s law siates that for 3 sclution of
component in the solution is

-

13. Two solutions have different osmot
i called

14. At constant temperature the osmotic pressure of a solution is

I5. The sum of all mole fraction for a mixture is always equal 1o

16. Which reference electrode is used 1o measure the electrode potential of other electrodes?
I'T. What is homogeneous mixture?

8. Under what condition is Far=0or AG=07

i pressures. The solution of higher osmotic pressure

Section B, (10)

RTTR LRy E AT R T Y R BT T I.‘&Hﬂﬂiﬂlwlﬂﬂ.-ﬂ
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Lieneral lonstructions:

1. This question paper contains four sections.

2 Marks are indicated against each question.

1. Section A= (Q1io Q20 carrving |/ 2Zmarks ).
4. Section B-  ( Q21,Q22carryving 3 marks.)

§ Section C- (023 10 25 carrving 4 marks )
6. Section - (Q26.Q27 carrying 6 marks)

7 Attempt all pans of the questions together.

Section A
(1 The excess amount which the firm gets on selling its business over and ab
is

ove the net value

O Goodwill nnder Average Profit Method means

(3. How does goodwill arise”

Q4 How does the factor “quality of product’ affect the goodwill of a firm?

Q5. State any 1WO OCCAsIONs O which a firm can be reconstituted.

(6. What is meant by change m Profit-Sharing Ratio?

Q7. What do you understand by New Profit-Sharing Ratio?

Q8.If Assets are increasing but liabilities decreasing; in such a case Revaluation Alc will show
(9 The partier whose share has increased as a result of change iscalled

Q10 Annual profit shown by a business is Rs.20.000. Normal rate of retum 10%. Total assets of the
business firm Rs.2,40,000 and liabilities Rs.80,000. Value of Goodwill will be_ itk

Q1 LA, B and C are partners sharing profits in the ratio of capitals (old 5:3:2 and new 2:3:5). Their capital
after adjustment in new capital catio are * 20,000, ° 30000, ' 50000. Who will bring the amount of actual
cash for adjustment?

012 Give the formula of calculation of goodwill by capitalisation of super profit method.

Wl e and deciviese i e value of acids and liabilites are recorded through_____.

Ql4. are the assets which have phys ical existence.

(15.What is mean by number of year s purchase?

Q16 Manager’s cOmMmission isa____ against profits.

Q17.Which Section of the Partnership Act defines Partnership as the relation between persons W ho have
agreed 10 share the profits of a business carried on by all or any of them acting for all?

018 identify a situation when fixed capitals of the partners may change?

Q19,0 the absence of @ partnership deed, how are mutual relations of partners governed?

(Q20.List the items that may appear on the debit side and credit side of a partner's fluctuating capatal
account.






















OR
How important were gender differences in early society give reasons of your answer?
Section D
28 Source based Questions

In the praise of Samudragupta He was without an antagonist on Earth; he, hy the overflowing
of the multitude of (his) many good qualities adorned by hundreds of good actions, he wiped
ofY the tame of other Kings with the soles of (his) feet (he is) Purusha (the Supreme Being).
being the cause of the prosperity of the £ood and the destruction of the bad (he is)
incomprehiensible; (he is) one whose tender heart can be captured only by devotion and
humility: (he is) possessed of compassion: (he is) the giver of many hundred thousands of
cows: (his) mind has received ceremonial initiation for the uplift of the miscrable, the poor,
the forlorn and the suffering: (he is) resplendent and embodicd kindness 1o mankind; (he is)
equal to (the Gods) Kubera (the God of wealth), Varuna (the God of the ocean ). Indra (the
God of mins) and Yama (the God of death),

Who wrote the above Prashasti? (1)
Mention any three qualities of the ruler described in the excerpt.  (4)
How far are these values shown by the rul
society? Explain. (2)

e

ers, relevant in the contemporary

‘__.__.p._.-.‘ll

23
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General instructions: - All questions are compulsory
Section-A ¥ Marks questions
Section-B 3 Marks questions
Section-C 3 Marks questions
Section-A
Q1. How many function of management are there?
Q2. What is role of technical comminee?
Q3. What 15 climination towrnament?
4. What is objective of p'lnﬂniug‘?
Q5. What is role of finance committee?
Q6. When national sports day is celebrated?
Q7. Inter school competition are called?
8, Sports help 1o develop -
Q9 posture is an index of :
Q10. What is a structural disability?

Section-B
Q1 1, Discuss the objective of intramural loumament.
Q12 What do you mean by community sports?
Q13. What do you mean by kyphosis?
Q14. Explain flat foot with precautions and remedies.
014, Describe knock-knee with it's cause.

Section-C

©16. Explain the exercise guidance for different age groups.
Q17. Explain female athlete triad with symptoms. Describe eating disorders.
018, Describe psychological and social benefits of women participation in sporis.
Q19. Answer the following questions:-
knock-out tournament

24

MM:40
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General Instructions:

« Attempt all the Questions.

Q1. Very Short Questions JAnSwers % x10=5

a) Which of the following cannot be a variable ....oemsameee

B] i VAIUR TYDE does input (| return ?

¢) Which of the following is valid arithmetic operator in PYTROMN i rmstsinsss

d) Atokenis also called @ ..cococirmnn

e} Thedatatypes whose values cannot be changed in place are P[] I —
fl] The. __statement is an empty statement in Python .

gl FPylhol . Lannol be used 4% variable name .

h) The value of the expressions 4/3*(2-1)and 4/3 * (2-1) is the same T/F.

i) Variables can be assigned only once T/F.

j) Python loops can also have elsé clause . T/F.

Q2. Answer the tollowing questions in short . 1x5=5
al What are statements ?
b} What is the use of Break statements 7
¢) What are loops ?
d) Define compound statement .
e] Define keyword .

Q3, Answer the following questions in detail . 2.5x4=4
al What are lieeals in Python 7HOwW many types of literals are allowed in Python !
b) What are data types of Python handle numbers ?
c] What do you understand by the term Iteration ?
d) There are two types of elsé clauses in Python . What are those two types of else clauses.
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